Economics: The Basics, 2e

Study Guide: Chapter 13

Learning Objectives

LO13-1 Discuss the demand and supply curves for loans and list some factors affecting interest rates.

LO13-2 Explain the role of a financial intermediary and discuss how banks work.

LO13-3 Describe the risk-return principle and explain how it applies to the stock market.

LO13-4 Review the benefits of the diversity of financial intermediaries.

LO13-5 Summarize the key causes of the financial crisis.

Outline

· The Market for Loans
· Businesses borrow to fund future-oriented activities designed to earn profit in the long term.

· The demand and supply curves for loans behave like other demand and supply curves.

· For demand, as the interest rate (the price of a loan) rises, people will be willing to borrow less.

· For supply, as the interest rate rises, lenders are willing to supply more loans.

· If the economy becomes stronger, the demand for loans will increase and shift to the right.

· High default risk borrowers pay higher interest because fewer lenders are willing to supply funds to them.
· Financial Intermediaries are any institutions that transfer funds from suppliers of capital to users of capital (i.e. investors to borrowers). 
· Banks as Intermediaries: savers place deposits into banks and banks lends it to borrowers.
· Venture Capital: is where investors place money in a venture capital firm, who then provides funds to risky start-up companies.
· Unlike banks, venture capital firms expect most of their investments to fail, and invest accordingly.

· Risk and Return

· Risk and Return Principle: the only way to consistently earn higher rates of return over the long run is to take more risk.
· Types of risk include: default risk, event risk, and inflation risk.
· The Stock Market is part of the equity credit channel, where users of capital issue shares and suppliers of capital purchase those shares.
· A share of stock is a piece of ownership in the offering business.

· Public companies are those who have sold shares of stock to the public.
· An Initial Public Offering (IPO) occurs when the business first sells shares to the public.
· A dividend is the portion of the company’s profits that it pays out to shareholders.
· Price appreciation is the percentage change in the price of a stock.
· Total return is the change in the price of a stock, plus the dividend, divided by the original stock price.
· The diversification principle: splitting your money across different investments can help reduce risk, without reducing returns.
· Bond Market 

· A bond is a loan that entitles the lender (bondholder) to receive regular interest payments over time and then have the principal paid back at the end of the loan period.
· This is the main way corporations and governments raise money.
· Government bonds are either Treasury bonds (10 and 30 year terms) or Treasury bills (short-term securities).
· Causes of the Financial Crisis
· In large part a result of a housing bubble where housing prices rose for an extended period and investors convince themselves that the increases are not going to stop; this drives prices above a sustainable long-run level.
· Regulatory agencies, such as the Federal Reserve, failed to pay close enough attention to evolving financial markets (i.e. the derivative market) which allowed financial institutions to take on too much risk.
Common Myths & Common Problems

· If you believe in the company you work for, doesn’t owning only their stock in your pension plan make for a good investment?

· Whether you are loyal or believe in your employer is a different question from whether only owning their stock is a good investment. Only owing stock in your employer is a risky strategy because “all your eggs are in one basket.” A better idea is to diversify your investments. That way the risk is spread out over a large range of investments, so a decline in one will be offset by increases in others.
· Isn’t charging interest on a loan wrong? Since you aren’t using it, shouldn’t it be borrowed at no cost?

· If this is a moral question, then it is better answered by your religious advisor. However, we charge interest because there is an opportunity cost to holding money. By making a loan to someone, the lender is giving up another opportunity; they are incurring a cost to lend money, and are only asking to have that cost covered. If the opportunity cost isn’t covered, there would be no incentive to lend money.
· Aren’t loan sharks evil because they charge such high rates of interest?
· Yes, loan sharking is illegal, but there might be some justification for a high interest rate. One reason the interest rate is very high is that the borrower is usually not very creditworthy. These borrowers usually have high default risk; which is why they didn’t get a loan from a bank in the first place. The second reason for a high interest rate is that since loan sharking is illegal, there is a high marginal cost of doing business (evading police, self-help in making borrowers pay, and the like). Both of these effects reduce the supply of lenders for these desperate borrowers, and they drive up the interest rate on the loan. See below:
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Real World Applications from an Economist’s Perspective

The California Strategic Growth Plan of 2008 proposed $11.6 billion of additional state obligation bonds to help finance school growth. In addition, many other state and local governments will be requested permission to issue bonds to help finance school growth, library growth, and university growth during the 2008 election year. Given population growth, building more schools, libraries, and universities may make sense. However, one nagging issue was whether voters understand the implication of issuing a bond given the “something for nothing” tone of some of the bonds’ advocates.

Bonds are debt instruments. This means the government (whether local or state) will be borrowing money from the public to help finance these projects. Unlike private businesses that must pay the bondholder back out of their profit (which provides an incentive to invest wisely), the government has no such incentive because the bond will be paid back through taxes (including increasing taxes if necessary). There is a real cost to taxpayers if bonds are issued and it is not the “something for nothing” scheme that some people perceive.

The positive thing of education bonds is that, technically, increasing education will increase human capital and increase GDP. The increase in GDP, even holding the tax rate constant, will help increase tax revenue and provide the resources to pay back the bond. In the end, the issuance of the bond may be paid for by the return on investment. Of course, this does assume many things about the quality of educational services provided and rendered by the bond. Therefore, there is no guarantee that future taxes may not increase to pay off the bond.

Now it’s Your Turn
1.  Peter Griffin takes out a loan from the First Bank of Quahog. He borrows $20,000 at 5.5% for 10 years so he can pay for voice lessons for his daughter Meg, so she can try out for American Idol. Identify the principal, the interest rate, and the term of the loan. If Peter was a serious credit risk (as indicated by a low credit score), should one expect him to have a higher rate of interest or a lower rate of interest, compared to the average borrower? Explain using a graph.  
2.  Brian purchased stock in Patriot Pat’s and paid $25 per share a year ago. Today, Patriot Pat’s stock is trading in the market for $40 per share, after they announced a new line of products. Brian also received $1.80 as dividend payment. What was the price appreciation of Brian’s stock, and what is the total return?

Practice Quiz

1. Which investment is more diversified?

a. Owning a mutual fund

b. Owning stock in Coca-cola

c. Owning Treasury Bonds

d. Owning stock in McDonalds and Burger King

2. The interest rate on a loan is:

a. The demand curve of the loan.

b. The supply curve of the loan.

c. The price of the loan.

d. The dividend of the loan.

3. The opportunity cost of holding money:

a. Is what else could have been done with it.

b. Is negligible.

c. Is the time value of money.

d. Both A and C.

4. Typically, if you have a high credit score:

a. You will have a higher rate of interest.

b. You will have a lower rate of interest.

c. You will have the same rate of interest as everyone else.

d. You will have an increasing rate of interest at a declining rate.

5. The FDIC will:

a. Insure all bank deposits.

b. Insure all bank deposits greater than $100,000.

c. Insure all bank deposits equal to or less than $100,000.

d. Insure the bank, but not its deposits.

6. Typically, the greater return on an investment:

a. Is associated with less risk.

b. Is associated with equal risk.

c. Is associated with greater risk.

d. Is always associated with insider trading.

7. Stock ownership is:

a. An ownership interest in the issuing corporation.

b. A debt instrument.

c. A bond from a corporation earning a dividend.

d. Insured by the FDIC.

8. IPO stands for:

a. Initial private offering.

b. Investment public operation.

c. Initial public offering.

d. Investment public offering.

9. Bondholders typically only receive:

a. Regular periodic interest payments.

b. Regular periodic dividends.

c. Repayment of the principal.

d. Regular periodic interest payments and repayment of the principal at the end of the term.

10. Which of the following statements is true?
a. Treasury bonds have shorter terms than Treasury bills.

b. Treasury bonds have equal terms to Treasury bills.
c. Treasury bonds have longer terms than Treasury bills.

d. Treasury bonds are always for less principal than Treasury bills.

Answer Key

1.  A

2.  C

3.  D

4.  B

5.  C

6.  C

7.  A

8.  C

9.  D

10.  C

